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QUESTION 1

Which selection is associated with the Review Task of the Engagement Lifecycle? (Choose the best answer.)
A. Gather and document requirements, assumptions, and constraints.

B. Build, deploy, implement, and test the design.

C. Measure performance against customer\\'s objective.

D. Create and document the logical and physical design.

Correct Answer: C

QUESTION 2

Which two protocols are typically used for multicast in a NSX-T Data Center environment? (Choose two.)
A. PIM Full Form

B. PIM Dense Mode

C. IGMPv2

D. PIM Sparse mode

E. IGMPv3

Correct Answer: CD

Reference: https://docs.vmware.com/en/VMware-NSX-T-Data-Center/3.0/administration/GUID-6AAC33604F79-4FBF-
BCC1-0D8C220B0621.html

QUESTION 3

An architect is helping an organization with the Logical Design of an NSX-T Data Center solution.
This information was gathered during the Assessment Phase:

There is a performance based SLA for East — West traffic.

The business critical applications require prioritization of their traffic.

One of the services is a file share and has a high demand for bandwidth.

Which selection should the architect include in their design? (Choose the best answer.)

A. Review average North/South traffic from the core switches and firewall.

B. Include a segment QoS profile and review the impact of utilizing this feature.
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C. Meet with the organization\\'s application team to get additional information.
D. Monitor East-West traffic throughout normal business cycles.

Correct Answer: B

QUESTION 4
An NSX-T Architect is working in a brownfield environment with 4 ESXi hosts. These constraints were documented:

new servers cannot be purchased North/South bandwidth must be guaranteed Top-of-Rack switches have additional
uplinks

Which three recommendations should the architect implement? (Choose three.)
A. Remove one of the ESXi hosts and install a bare-metal Edge.

B. Use a resource pool for production workloads.

C. Use a resource pool to deploy the Edge nodes on.

D. Recommend obtaining 2 new physical NICs for the servers.

E. Install Edge nodes on a separate cluster.

Correct Answer: ACD

QUESTION 5

An architect is helping an organization with the Logical Design of an NSX-T Data Center solution.
This information was gathered during the Assessment Phase:

Customer currently has a single 10 host vSphere cluster.

Customer wants to improve network security and automation.

Current cluster utilization and business policies prevent changing the existing vSphere deployment.
High-availability is important to the customer.

Which three selections should the architect include in their design? (Choose three.)

A. Apply vSphere DRS VM-Host anti-affinity rules to the virtual machines of the NSX-T Edge cluster.
B. Deploy at least two NSX-T Edge virtual machines in the vSphere cluster.

C. Deploy the NSX Controllers in the management cluster.
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D. Apply vSphere Distributed Resource Scheduler (vSphere DRS) VM-Host anti-affinity rules to NSX Managers.
E. Remove 2 hosts from the cluster and create a new edge cluster.
F. Remove vSphere DRS VM-Host affinity rules to the NSX-T Controller VMs.

Correct Answer: ACE
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